[image: image1.png]=101x|

[98/100(n/s3/N]  Frequency Response H1(Response 1. Force) (Magnitude) Cursor Values
Modal  Input - Iput - Modal FFT Analyzer 1 Y =5524B/1.00 n/]

X=1000Hz

=15 ‘

EY Status.
8/15/2011 16:4923.
Averages: 5

Overoad: 0.00%

ﬂm Resonance
0 i Frequency = 80.00 Hz
Cant compute Dekiaf

1] T _>l_/‘

4
=loix|
[98/1.00 (n/s/N]  Frequency Response Hi(Response 1. Force)1 (Magnitude) Cursor Values
Modal : Input :Input - Modal FFT Analyzer 1 ——— || Y=552d8/1.00 /sy

=1000H:

" Status.
8/15/2011 16:49:23.26(
Averages: 5

Overoad: 0.00%

W A0 W 40 S0 60 70 8
Hal 1 |





